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INSTRUGTIONS TO CANDIDATES

Do net turn over this page until yeu are told to do so.
Foellow-all instructions caiefully.

Answer all questions. |

Shade your answers in the Optical Answer Sheet (OAS)
Provided.
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SECTION A )

Questions 1 to 20 carry 2 marks each. For each question, four options are given.
One of them'is the correct answer. Make your choice (1, 2, 3 or 4). Shade the oval
(, 2, 3 or 4) on the Optical Answer Skieet.. - {40 marks)

1. In 5921, the value of Sis

M
)
3)
(4)

9

90
900

9 000

2. 20 hundreds and 45 tens is the same as _Z_-

&)
2
3
@

245
650
2045
2 450

3. Find the difference between 4 138 and 2 451,

M
)
3
(4)

1687
1787
2 327
6589

1 {Go on fo the next page)
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4.

- -

- ES

EY

- Fiona has 384 stickers. She placed 6 stickers on each page in the sticker
book. How many pages are there in her sticker book? .

(1) 64
2 378
3) 390
@ 2304

What is the product of 118 and 72

() 115
() 726
(3) 756
(4) 826

"

What is the missing number in the box?’

2 {+400 = 6000 - 2500

(1) 3100
(2) 3500
(3) 8100
(4) 8500

(o on to the next page)
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\What is the sum of thé value of the digit 3 in 4 362 and 2 0347

(1) 303
(2) 330
(3)" 2268
(4) 6336

A number when divided by 8 gives a remamder of Zanda quo’uent of 4.

What is the fiumber?

(1) 14
@ 20
(3) 34
@) 48 - -

= 369

What number does represent?

()
2y 18
(3) 20
@) 41

o]

22

{Go on to the next page)



10.

11.

12.

-

Tricia is 15 years old. .She is three times as old as her sister. Whatis

(1)
2
@)
“@

. the tota! age of Tricia and her sister?

5

20
45
60

Ravi had:seme: s"tamps He. gave 28 stamps away a@d reeaived 37
stamps fomihis mother. Now, he has 49’ stamps. How mady stamps did
he have at first?

(1)
(2)
3
4

40
58
77
114

The-digit 4 in 6 407 has the same value as

N
(2)
(3)
(4)

4x1
4 x 10
40 x10
40 x 100

4 (Go on to the next page)




13.

14.

15.

16.

ES

Jasmine, her parents and 2 siblings bought 36 buns each. How many

buns did they buy attogether?

{1
(2
3)

(4)

(1)
2
)
4)

108
144
160
180

-----

$120
$160
$240
$360-

Bag ‘Ahad 1.200 beads. Bag B had 750 beads. The: béads in b@th bags
werte distributed equally into 3 boxes. How many peads were there in
each bex?

(1
2)
3)
4)

Which of the follewing is incotrest?

€)
2)
3
“)

150
400
650
1950

7x9=9x7
4x4=8+4+4
5x2=2+5
6x3=6x2+86

{Go on o the next page}
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17.

18.

19.

20.

Apples are sold at 3 for $22 What is the greatest number of apples that
can be bought with $10?7 :

M 5
2 15
3) 20
@ 30

Chandra spent $1 347. He spent $589 more than Geok Lan. How much
did Geok Lan spend? '

) $758

(2} $858
(3) %1936
@ $1945

Acoin bank costs $12 less than a pheto frame. 2 similar coin banks cost
$32. What is the cost of a phote framie?

-

(1) s10
@ $20
(3 $28
4 %44

The cost of a sofa set and a fan is $5 000. The sofa set costs $1 350
more than the fan. How much does the sofa set cost?

(1) $1825

{2y $3175

(3) $3650

4 $6350

6 {Go on to the next page)
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INSTRUCTIONS TO CANDIDATES

Do not turn over this page until you are told to do so.
Follow all instructions carefutly.

Answer all questions.

Write your answers in this booklet.

Name: ' ( )
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SECTIONB ) i?,"ﬂ?g‘s‘;fje
Questions 21 to 40 carry 2 marks each. Write your answers in the spaces
provided. For quesfions which-feqtiire unifsy give your ariswers in the units stated.
¥ (40 marks)
21. Complete the number patter:
2800, 2950, , 39502400
Ans:
22, Write 4 309 in words.
Ans:
23, Whatis 100 less than 3 0852
Ans:
| Score
]
i {Goon Yo the next page)
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24.

25.

26.

-

{ am a four-digit number. 1 have 3 hundreds. The digit in my tens place is
twice the digitin my thousands place: The digit in my ones place is the
smallest odd number. What number am 1?

Ans:

Whatis 129 = 72

Study the pattern. What nuiber does the letter A represent?

2 {Go on to the next page)

Do not write
it this space

Scoré




* Do not write

27. .SiEnwentfoa book fair and bought 2 items from the list below. She in this spact
gave the cashier $50. She received a ehange of $2.50. -Which 2 iftems
did she buy? ’

Ans: and

28. What is the greatest 4-digit odd number that can be formed from the
digits 3; 0, 8, 27

Ans:

29. A group of girls queued to buy tickets for a show. Mercy was the 7th
person fom the start and the- end of the queue. How many girls wete
there inthe gueue?

}  Score

3 (Go on 1o the next page)
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. Do notwite -
30.  John picked up 2 number cards. The number on each card is a single in this space
digit number. The sum of the 2’ numbers on the cardswas 8. The

product of the 2 numbers on the cards was 12. What are the 2 numbers? }

Ans: - and

31.  Sam has-4:coins in his pocket thatadds up to $1.26. There may he more
than 1 coin of the same value. Write down the value of the coins in the
‘cireles below.

32. - Whatis the quetientwhen 526.is divided-by9?

4 {Go ontothe nexi page)




35.

-

What is the missing number in the box?

-

5200- | o |=220x10

Paul'hias '8 toys. He has twice as many toys as Wei Qlang. . Hew many
toys must Paul-give Wei Qiang so that they each will have the same
number of foys? )

Ans:

The total number of cars and motorcycles was 10. If there were 28
whesls altogether, how many cars were there?

Ans:

5 {Go on to the next page)

Do not write,
in this space =

Score
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- " Do not write
36. Mrs Chan packed 132 apples into bags of 8 apples. What s the minimumj " this space
number of bags-He-would need to pack all the apples? .

She ' -

37. Tian Le has tvo $2 notes, one 50-cent eoin-and seven-20-cent coins. He |
needs to, buy.a boek that costs $7." How.mueh, moere. meney does e rieed
" {0 buy the -boek?

Ans: $

38. Tracy has 10 ¢ards more than Maya. They have 40 cards altogether.
How midny cards-doés Maya have?

Score

& {Go on t'the fiext page)




- Do not wiite

39. . Vivian writes a number on her whiteboard. The number is more than 50 - in this space
buit less than 60. If can be divided by 2 and 6 without any rema:nder
What number did Vivian write? -
Ans:
40

Score

{Go on to the next page)
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SECTIONC .

For questions #1445, Show ybuf waitking dearly and:wife your answersin the
space provided. THe Huber Of riks available is siowi in tie brackets | Jakive
end of€agh question or part:question. : (20 marks)

2R e o
T

#41.  Gopal, Eileen ani-Faith have 396 seashells altogether. Eileen has 61
sgashalfs. Faith has 4 fifes as many seashells as Gopal.

{a) How many seashellsidoes Gapal have?,
) Howmanymereseééﬁeﬂs thidn Fiteen does Faith-have?

-

Do notwrite
in this space.,

8 (G6 on lothe néxt page)




42.

-

3 000 spectators watched a football match over 3 days. 1 236 spectators
wateheel on :fuesday 240 fewer speciators watcmed on. Wednesday than .

.

Ans:

e

{Go on to the.next page)

Do not write
in this space

Score

Rh3



43.

~-

There were-8 camiages in a frain. in each carriage, there were 34 Do not write
. - : in this space
passengers.
At Mt Soptia Statior, 156" passéggem got off and 4’8 DASSERg 3rs got on
the train. How many passenges.were o the: ésain whierr il Mt Sophia
Station?
: B Score

10 {Go on tothe next pagej
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- . Do not write
Small dnd large packets of sugar were sold at the supermarket. Asmalt | ™ this space
packet of sugar cost $2 and a large packet cost $3. A total of $108 was
coliacted from the sale of the Jarge packets of sugar.

(a) Héw many large packets weraseld?

(b) 27 more small packets of sugdr wire sold-than the. large packets of |
sugar. How much was collected froim the sale of the small packets of

sugar?

Ans: (@) .. 11 .
@ | e
11 (Gé.onio the next page)
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3 boxes of flowers were delivered to a company. There were 58 flowers in
each box. 29 flowérs had witheied and were thrown away.

The rest were repae;ked into bougquets. There were 7 flowers in each
bouguet.

(a) How many fowers were delivered?

{bY How many Bouiquets were Fere?

s {e)_ 2L
) e il

42

End of Papér

Do not write
in this space




EXAM PAPER 2012

SCHOOL : MGS
SUBJECT : PRIMARY 3 MATHEMATICS

TERM : SAl

Qi 02} Q3 Q4~ Q51 Q6 | Q7 ‘QB Q9 | Q10 Q1110121 Q13 [ Q14| Q15§ Q16 | Q17
3 4 1 1 4 1 2 3 4 2 1

Q18 Qie] Q20
1 {3 12
21)3100 22)four thousand, three hundred and nine 23)2905
24)4381 25)18 R3 26)25 27)calculator and sticker album
28)8203 29)13 30)6 and 2 31)$50, $50, 20c, 5¢ 32)58
33)3000 34)2 35)4 36)3000 37)$1.16  38)15
39)54 40)85 41)a)67  b)207

4231236 — 240 = 996
1236 + 996 = 2232
3000 — 2232 = 768
768 spectators watched the football match on Thursday.

43)43 x 8 = 272
272—-156 =116
116 + 48 = 164

164 passengers were on the train when it left Mt Sophia Station.




44)a)$108-%$3 = 36
36 large packet were sold.

b)36 + 27 = 63
63 x $2 = $126
$126 would be collected.

45)a)58x3 =174
174 flowers were delivered.

b)174 - 29 = 145
1457 =20R5
There were 20 bouquets.
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